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(@ylo)=(5x2x3.14) x12=31.4%X12

=376.8(cm?”
— (BH0])="78.5%2+376.8=533.8(cm?

672 o o a

- =
H — =%
HHT—il.l—__l_
- =
S i<iE4J*



@

— AR B2 3 W8 A AE
Lf, CF 2t ﬁ7 671X 7} QJoB g gx4=
24(7HA)) Sk iUk

17 55(=)2 #WA terd 42 S4ojgta ¢

Yt

18 x71 19] 20, 38, 4,
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8 eora AAl spy 2 Oete @ o,
DX%=44, D=44X%—200( g)
(438+2] B]8)=100-(22+21+10+5)

=42(%)
— (423} 3FS U= BHY )
49

5 164,

2% :
— (@ag )

T

_ZOOXW_SLL( o)

0 ©4:5=48:60
®6:7=48: 56
®, @, ®, ®—48
®12:17=60:85 & — 60

10@mzﬂo-w@

=14: 23 3.2

=1.4:22:3.2
=1.4x5):(2.2x5) : (3.2x5)
=T7:11:16

©®9:16=27:48
@ 13:24=26: 48

1 <%§°l)=6.2+2%: 62 . 13

_3l_5 5
—13—213(cm)

13 6, @ guo) st 4w

1075

—ls | R
ST

e,



L

“~Tem~”
— (TXB)X2+(T+6+T7+6)xX3=84+78
=162(cm?)
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=12(cm)

16 -7 23110 0l5k9 A : 8,9, 10

‘ EA o] 891 %%
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o &= =9] glo] 99] AL
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« = 120 Flo| 100] AL
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XX 3+3=153+3
X=51

19 @, @2 Aulgolx
g = opgdytt,

N xe 4zae ws o A 3747 Bas
I ohEREE 9, 18, 30, 77 BostEE
6, 9,12, 15, -7 Zolupi= FA AU},
— AF AR 3+6+9+12+15+18+21=
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1

Hir me

i
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